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() ‘What do you understand by Financial Management ? Discuss its significance in business

‘management. . o o ‘ 5

(b) A company has the following capital structure

Am-(.)unt 3 |

o '4‘0,000 Equity ‘Shares - L ) S -s,o’d,obo :
10% Preference shares R - 600,000
10% Debentures . ‘- . o 2,00,000

1:.6,00,'00'0

' The equity share of the company is curréntly selling 'atl? 25. 1t is expected. that.
~ the -company shall pay a dividend of ¥ 2 per share with growth rate of 5% p.a.
forever. The tax rate applicable is 30%. Preferenc_e. shares and debentures are
- traded at par. Compute.Weighted Average Cost of Capital on the existing capital
O

(a) Differentiate between specific cost of capital and weighted average cost of )
capial. - ' L 5.

() A Machine costs ¥ 1,00,000 and its effective life is estimated to be 12 years. If
the scrap vatue is ¥ 5,000, what should be retained out of profit at the end of
each year to accumulate at compound interest rate of 5% b.a. so that a _néw maichinc

can be purchased after 12 years ?- ) - A -6,
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2. (o) The payback perlod 1s more a rnethod of 11qu1d1ty rather than profi tablhty
. .Comment, _ S _ L _ S5

4y ABC L. is evaluatmg an investment proposal with the followmg mformation :

: Cost of Machme .. _ - % 36,00,000
- Installation’ charges . _ 4 2,00,006
Life | - —_ | 5 years
Salvage value | 2 3,00,000 -
-Increase in werking capitel ) o T 2,00,000

Annual profit before depreciétio'n and takes ? ]2,00,000
. Tax rate o o _ 4%
Calculate the relevant cash flows associated with the Investment prcposal. 6
. o _
A company is con51denng an mvestment proposal to purchase a machine costmg T2 50 ,000.
| The machine has a life expectancy of 5 years and no salvage value. The company s tax

rate 1s 40%. The company uses straight line method of prowdlng deprecnatlon The estimated

earnings after taxes from the machine are as follows :

Year Earnings after Taxes (?).‘

o  eoe |
5 T 12000,

3 24,000

4 - 30,000

5 . 60,000



You' are required to calculate :
@ Average/Accoﬁnting Rate of Réturn

(i) Pay Back Period

(z"ixj Internal Rate of Return.

_(3) “§ IF (Pay back)l sty AR
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T 36,00,000

2 2,00,000

5 a9

2 3,00,000

§ ‘2'_.00,00_0

Z 12,00,000
40%

m%wamﬁmﬁm
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1 6000 -

2 12,000 |

3 . 24,000

4 : 30,000 |

s 60,000
S e ¥ T s |
| _(0 Sga/era AT T
-"(n) ¥ % (Pay back) a4
.'(iii:) A& =9 T (Internal Rate of kerﬁfn) N
_-The foll_owing details are avai]aBle for a firm as ﬁer tradi_tidna_l approach :
- Net ppefation Income - 'z 3,50,060 |
Tota;_ investment | T 15,00,000
.'Equz'ty Capitalisation Rate :

If the firm has no debt 10%
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If the firm u§es ? 8.00,000 debt 11%
If the ﬁrm uses ? 10,00,000 debt - - ]3%

The 1nterest rate on ? 8,00,000 debt IS 6% and that on ¥ 10,00, 000 debt is 8%. Calculate

for each of the above cases :

g 0] ‘ Value of shares -

:(z'i) Market ‘value of the firm

(-i'iz}.. OVe’l;lll/lveighled average eoel of capital.

Assufne that corporate taxes do not exist. Comment on'yeur findings. - 11
(ll') l;:fxplein Arbilrage process under Modigilani-Miller Appreach'to capital structure. 5

) From the fo]lomng information for firm P and firm S, calculate EPS, degree of operatlng

leverage and degree of financial leverage o . T 6

Particulars _ ' .Firm P .. Firm$
Sales (in wnits) 20,000 40,000
Selling 'priee per unit T % 30
\lariable cost per unit . - 4 lOA '.‘_ %2

Fixed Cost ©T30000 % 60,000

. Interest' . | . TA5000 T 40,000

_-'Té,'(_. 0% . a0%

| l;lumber of equity shares . 5,000 12,000

PTO.
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(a)tﬁﬁpaﬂimﬁsa}mﬁmzﬁmﬁﬁpsmﬁﬁaﬁamﬁ?ﬂa
Eﬂaiﬁraﬁmm'rﬁm

- au - ._”wip_-‘mﬁs,
| ot (lsav‘lsﬁ,ﬁ) . - 20000 - 40,000
uﬁrmﬁmtﬁw ] | -%_15 - T30
oftad @rE W TR S T ..'?25_"
e aE . 30,000 760000
B S . C T5000 % 40000
W W | 40%_“_ - 40%
AW S @ " ' .~ 5,000 - 112,000
4 (a)- .Explain the liquidity-proﬁt_ability trade off in. working capital manggement. -5
| .('b) The fo]lowing infonnati.on is available in respect of a compa'n'y : .6
" EPS - T 10
Rate of returﬁ 20%

Required rate of return on equity 16% |
. Find out the market price of share under Gordon’s model if the firm follows a &iviqend :

pay out of 1 | ' . "
| 0] 25%

() 50%

© (i) 15%. |
PTO..
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(a) Explain brieﬂy the -factors which- inﬂuenee the dividend policy of fhe firm. 5
(b) "A company has a capltal of 2 10,00,000 in equity: shares of ¥ 100 each. The shares
are currently quoted at par The company proposes to declare a dmdend of ¥ 10 .

per share at the end of the current financial year. The capltahsatlon rate for the risk

| _ to whlch the eompany beiongs is .12%. What will be the market prlce of the share

at the end of the. year, if :
] ,_(i) a dividend'is_ not declared;
(i) a dividend is declared; .

" (iif) assuming that the company pays the dlvrdend and has net profits of ? 5,00,000

and makes new investments of T 10,00, 000 durmg the period.

How many new shares must be issued ? Use MM model. . .‘ 6
(a)mﬁ&ﬁai&hmﬁmmﬁmﬁam(mdeoﬁ)mavhﬁﬁmr
(-a)@mﬁ%m?qﬁ,ﬁﬂfaﬁaaqamm%-:
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amEt wWoo : : - 20%

g W oA W W ST - 16%
ﬁﬁmﬁmm@wwﬁmﬁﬁqﬂﬁwm

q 3R (Payout)ﬁrﬁ AR ¥

N 25%

) 50%

i) 75%. .
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Write a detalled note on Baumol’s Model of Cash Management ' 5
A company provides the followmg 1nformat10n

The cost per umt of inventory is ¥ 16. Carrying cost is 15% of average mventory '

-per annum.” The ﬁxed cost per order is ¥ 960. The number of units requ1red is

2.0,000 per year.
You are re_qu'ired‘ to calculate :

EO.Q. '

(i) Total number of orders in a year

" (iif) Total annual ihve.ntory cost at EOQ. o | 6 "

P.T.O.
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E What is the 1mportance of workmg capltal management for a manufacnmng firm ? Descnbe |

the factors that affect the working capltal requirements of a company . 1
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